
3ULQWHG�YDVDULV����������DW������
$LUVRIW��
352'8&7,21����2YHUDOO�6WDJH�5HVXOWV

6WDJH������SLUPDV

376 7,0( )$&725 32,176 3(5&(17 � 1DPH
+,7 67$*( 67$*( &203(7,725

� �� ����� ������ ������� ������ � .XFNDLOLV��(UQHVWDV
� �� ����� ������ ������� ����� �� 0LOLVDXVNDV��9LUJLOLMXV
� �� ����� ������ ������� ����� � %XGQLNDV��,JQDV
� �� ����� ������ ������� ����� �� 0LFNHYLF��SDYHO
� �� ����� ������ ������� ����� �� %DJGDQDYLFLXV��$QGULXV
� �� ����� ������ ������� ����� �� 6XOJD��PDULXV
� �� ����� ������ ������� ����� � .DOSRNDV��9\WDXWDV
� �� ����� ������ ������� ����� � 6WDVNXQDV��2VYDOGDV
� �� ����� ������ ������� ����� � =HPDLWLV��7DGDV
�� �� ����� ������ ������� ����� � -XNQD��$QGULXV
�� �� ����� ������ ������� ����� �� .DSODQDV��-HYJHQLM
�� �� ����� ������ ������� ����� � 3DXODXVNDV��$QGULXV
�� �� ����� ������ ������� ����� � 6LUHYLFLXV��$QGULXV
�� �� ����� ������ ������� ����� �� %DUDQDXVNDV��$OLXV
�� � ����� ������ ������� ����� �� =XENRYDV��-HYJHQLMXV
�� � ����� ������ ������ ���� �� 0LORV��9ODGLVODY
�� � ����� ������ ������ ���� �� %DXELQDV��(UYLQDV
�� � ����� ������ ������ ���� �� &KRPDQWDXVNDV��6LPDV
�� � ����� ������ ������ ���� � 6DPEOLQVNDV��9LWDOLMXV

3DJH���RI��


